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O B 537K (AT BL K R — BRI )

STTHEE

o o= g % |w fewisl 4980 |5A13A | 6A3H
1] ik il Lt | 100 0 0 0
2 5 P I tan g iEh [ HEn g
3T RIV AR RZE DAL A W me/L | 0.003 — — 0.0003 i
4k 8B & O & © b & | me/L | 0.0005 — — 0.00005AJifi
5l v v kO o kA W meg/l | 0.01 — — 0.001 A3
66 X O = o f & #| meg/L | 0.01 — — 0.00 1A
Tl £ Kk O ZF O b A& W me/L | 0.01 — — 0.001 A
g M 7 = & fb A M| me/L | 0.02 — — 0.002 i
9 |® m m & =  FE| myL |0.04 — — 0.004 A3
Wl 7oema4r koL 7| mg/L | 0.01 — — 0.001 A3
11 |y % B 22 3% R ONHE A MR BB % | me/L | 10 — — 0.3
1217 v F & O & © b & | megL | 0.8 — — 0.11
Bl v F &K X2 ot A& W megL | 1.0 — — 0. 1A
14 |0y e 1t R #| mg/L | 0.002 — — 0.0002 i
1514 ¥ F * H# | mgL |0.05 — — 0.005 A7
o[ 2 LR e [00a | — — | 0.0045k
17y 7 v v A & | mgL |0.02 — — 0.0024 i
87 v 7 muw = F L v mgL |00l — — 0.001 i
9 UV 7 v v = F L > mgL |0.01 — — 0.001 A3
20 |-} > N > me/L | 0.01 — — 0.001 A5t
21 | # el me/L | 0.6 — — 0.10
22 |7 = = e | me/L | 0.02 — — 0.002A3i
2 = 9w & A & mg/L | 0.06 — — 0.014
24 7 0w  wm  FE | me/L | 0.03 — — 0.003 i
251 7 v ® 7/ oo A X v mg/L | 0.1 — — 0.002
26 | 5= ES gl me/L | 0.01 — — 0.001 A5
271 v U o~ m X &% | mg/L | 0.1 — — 0.021
28I U 7 m w  EE BBl me/L | 0.03 — — 0.012
2917 m ® ¥ 7 mowm A% o mg/L |0.03 — — 0.005
307 w = & A4 mgL | 0.09 — — 0.001 A
3l v & 7 v F kb R mgL | 0.08 — — 0.008 i
2|8 & K Y o b A | mel | 1.0 — — 0.05Aiti
BT AI=T AR BE DL A W] megL | 0.2 — — 0.03
M| Kk 2 o b & | meL | 0.3 — — 0.03 A7
3Bl Kk 2 o b & W mgL | 1.0 — — 0.05Ai
6|7 FU T A K E DAL A W me/l | 200 — — 7
37|~ v v KO % ok A | mgL | 0.05 — — 0.005A 73
38 |I& it ¥ A 7+ > me/L | 200 10 10 9
(I LT L, v Fr T L% (HE) me/L 300 — — 19
40 |7 B % = Y| me/L | 500 — — 49
41k 1 A& v Fom 1§ M A me/L | 0.2 — — 0.02A 75
42 1> £ in A N | mg/L | 0.00001 — 0.000001 | 0.000002
4312 — AF v A4 VR )V x4 — 1| mg/L | 0.00001 — 0.000001 4 | 0.00000 1 At
4413 4 A v F om o3& M Al me/L | 0.02 — — 0.002 A
4517 = o, — o | me/L | 0.005 — — 0.0005 A
46|15 B m ( TOC ® 8 )| mgL | 3 0.4 0.5 0.6
47 [p H i Dol 74 7.6 75
48 o Y BEARL | BEARL | BEAL
49 |5 = L Bl | BEaL | BEARL
50 | B 5 1A 1A IE ST
51 |4 gl 2 0.1 | O0.1K% | 0.0

7% 5 1 | me/L [o1nik 0.5 0.3 0.3
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F07ABE

o om g 4 |w wmwei| AHSH | 5A13H | 6A3H
1| i bl Il 100 0 0 0
2 B PSR Disn g | iian | sitsnd
S RIv AR XE O A W me/L | 0.003 — — 0.0003 A3
4Pk R &k O % o b & | me/L | 0.0005 — — 0.00005 A1
5l L v & % ok & W me/L | 0.01 — — 0.001 A
65 X O = o b A | megL | 0.01 — — 0.001 A
Tle % Kk 8 £ O & & ¥ me/L | 0.01 — — 0.00 1A
8N i 2 = & b & | me/L | 0.02 — — 0.002 i
9 [® 4§ B e = H| mgL | 0.04 — — 0.004 A i
107 bwA4 >y ks 7| mg/L | 0.01 — — 0.00 1 AT
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 — — 0.3
1217 v % K 00 % o b & % mgL | 0.8 — — 0.12
131k 7 % Kk " %2 © b & B me/L | 1.0 — — 0. 1A i
14 |by #H 1k R F| mg/L | 0.002 — — 0.0002 A7
151,4- ¥ £ % ¥ mgL | 0.05 — — 0.005 A i
16|72 T Y] me [ 0.0 — — | 0.0045K¥%
171 7 0w v A % v mg/L | 0.02 — — 0.002 A7
18| F 9 7 v v = F L > mgL | 0.01 — — 0.001 AT
9| V 7 B 8 = F L o mgL |0.01 — — 0.001 Vi
20 [~ v + | me/L | 0.01 — — 0.001 Al
21 |t =S M| me/L | 0.6 — — 0.10
22 |7 = = e | me/L | 0.02 — — 0.002 A
23l = = & A Al mgL | 0.06 — — 0.016
24l 27 9w w  EE Bl mg/L | 0.03 — — 0.003 A i
251 7w ® 7 vowm A & v mg/L | 0.1 — — 0.002
26 | & £ k| me/L | 0.01 — — 0.00 1 A ¥
oThe U v = 2 & | mgL | 0.1 — — 0.024
28I U 7 v v EE | me/L | 0.03 — — 0.013
297 v = ¥ 27 v u 2% o me/l |0.03 — — 0.006
307 v = & A 4| mgL | 0.09 — — 0.001 ATif
31f&x & 7 A F v K| mgL |0.08 — — 0.008 AT
208 4 K O F o b & W meL | 1.0 — — 0.05A i
BT AI=T LR OZEDAA W myL | 0.2 — — 0.03
M k ™ = o b & W meg/L | 0.3 — — 0.03 ATt
Bl Kk ™ o b & | me/L | 1.0 — — 0.05 A
367 RV Y A K E DAL A W] meL | 200 — — 7
37|~ v # v K % Ot & #| meg/L | 0.05 — — 0.005 A7
38l b w4 A | mgL | 200 10 10 9
9 v wa, = s kv n% (@ E)| mg/L | 300 — — 19
40 |74 7 b33 ¥ ¥ me/L | 500 — — 48
41k 4 A4 v / om & M Al me/L | 0.2 — — 0.02ii
21 = F =2 T | mg/L | o000 — 0.000001 | 0.000002
4312 — A F v A4 VR v % A — | mg/L | 0.00001 — 0.000001 35| 0.00000 1 A i
4418 4 A v/ om o3& M Al me/L | 0.02 — — 0.002 A i
4517 = o, — o | me/L | 0.005 — — 0.0005 A7
46| H B ( TOC » & )| meg/L 3 0.4 0.5 0.6
47| H fi SN B 7.5 7.5
48 S O BERL | BERL | BEARL
49 |5 & SO BEeL | BELaL | BEARL
50 |fa ElOE 5 IEST 1 A 1 A
51 | O 2 0.1 | 0.1 | 0.1

53 o oy #| mg/L | o018k 0.4 0.4 0.3
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F07ABE

o om g 4 |w wmwei| AHSH | 5A13H | 6A3H
1 |- s “n L | 100 0 0 0
2 B PSR Disn g | iian | sitsnd
S RIv AR XE O A W me/L | 0.003 — — 0.0003 A3
4Pk R &k O % o b & | me/L | 0.0005 — — 0.00005 A1
5l L v & % ok & W me/L | 0.01 — — 0.001 A
65 X O = o b A | megL | 0.01 — — 0.001 A
Tle % Kk 8 £ O & & ¥ me/L | 0.01 — — 0.00 1A
8N i 2 = & b & | me/L | 0.02 — — 0.002 i
9 [® 4§ B e = H| mgL | 0.04 — — 0.004 A i
107 bwA4 >y ks 7| mg/L | 0.01 — — 0.00 1 AT
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 — — 0. 1A
1217 v % & O % © {t & | mg/L | 0.8 — — 0.08ifi
BlA 7 #F &k O % 04 & ¥ mgL | 1.0 — — 0.2
14 |by #H 1k R F| mg/L | 0.002 — — 0.0002 A7
151,4- ¥ £ % ¥ mgL | 0.05 — — 0.005 A i
6| 2 TR Y e [00e | — — | 0.0045i
171 7 0w v A % v mg/L | 0.02 — — 0.002 A7
18| F 9 7 v v = F L > mgL | 0.01 — — 0.001 AT
9| V 7 B 8 = F L o mgL |0.01 — — 0.001 Vi
20 |-) v + | mg/L | 0.01 — — 0.00 1 AT
21 |4 e k| me/L | 0.6 — — 0.06 A7
22 |7 = = e | me/L | 0.02 — — 0.002 A
23l = = & A Al mgL | 0.06 — — 0.001
24l 27 9w w  EE Bl mg/L | 0.03 — — 0.003 A i
86 7 v = 7 v v 2 &% o mgL | 0.1 — — 0.001 Al
26 [ = £ k| me/L | 0.01 — — 0.00 1 A ¥
oThe U v = 2 & | mgL | 0.1 — — 0.001
28 V7 =m v EE  EB| me/L | 0.03 — — 0.003 A i
297 v = ¥ 27 v u 2% o me/l |0.03 — — 0.001 ATt
07 v = &x mg/L | 0. 09 — — 0.001 ATif
31f&x & 7 A F v K| mgL |0.08 — — 0.008 AT
208 4 K O F o b & W meL | 1.0 — — 0.05A i
BT A= AR BEDOAA Y mgL | 0.2 — — 0.02 A7
M k ™ = o b & W meg/L | 0.3 — — 0.03 ATt
Bl Kk ™ o b & | me/L | 1.0 — — 0.05 A
367 FU Y A K NE DAL A M| me/L | 200 — — 5 A T
37|l v H v K OV % @ ft & | me/L | 0.05 — — 0.005 i
38l b w4 A | mgL | 200 15 15 15
9|y a, =7 xvyas (@EE)| mg/L | 300 — — 17
40 | I % & | me/ | 500 — — 44
41k 4 A4 v / om & M Al me/L | 0.2 — — 0.02ii
217> = A A I Y| mg/L | o000 — — 0.000001 i
4312 = AF L 4V B % F — | meg/l | 000001 — — 0.000001 A5
4418 4 A v/ om o3& M Al me/L | 0.02 — — 0.002 A i
4517 = o, — o | me/L | 0.005 — — 0.0005 A7
46| H B ( TOC » & )| meg/L 3 0.3 | 0.3A0 | 0.3
47| H fi RN 7.3 7.4
48 S O BERL | BERL | BEARL
49 |5 & SO BEeL | BELaL | BEARL
50 |fa ElOE 5 IEST 1 A 1 A
51 | O 2 0.1 | 0.1 | 0.1

53 o oy #| mg/L | o018k 0.5 0.5 0.5
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JFKEBR A R OR K 2wt — K ME+=HF)
DFNTHRE
FEl = H 4 AL 6H17H
Iy — i il ImlH 0
21 K iV s
3l PRI AR X E DAL A B | me/L 0.0020
41 K 8B K O 2 o kb & ¥ | mg/L 0.00005 A1
5l v vy kX F 0L A& W | meg/L 0.001 A3
6| g8 & O = o b A ¥ | mg/L 0.001 A3
e % R W o o & A& Y mg/L 0.007
gl M v o ow A fk A B mg/L 0.002Ai5
9 |a i 74 i % #| mg/L 0.004 A
Ok 7t A4 v &k XHEY T | mg/L 0.001 A7
11|y M6 e % % K OO O RY RE BB & % mg/L 0.4
2 v £ kX O % o 1 A ¥ mg/L 0.75
Bk v F kK O 2 o b A& ¥ mg/L 2.1
14 |4 1 1t. 173 #| mg/L 0.0002 A3
15 |1,4- > 7 * Va | me/L 0.005 A
6] > e RS Y men 00015
17 |2 7 = = 2 5 | me/L 0.002Ai5
8 ¢~ 3 7 =7 v = F L o mgl 0.001 A3
19|~ v 2 mv o F L ] mgl 0.001 A5
20 |- > ¥ | me/L 0.001 A5
21 | e 2| mg/L —
22 |~ = = ik | mg/L —
23 |~ = m 7 L A mg/L —
24 | 4 = = e 2] mg/L —
2%l 7 v = 7 v v X % | mg/L —
26 |2 ES f2| mg/L —
27 |- k ) N = A v >l mg/L —
28 |k ) 4 = = W f2| mg/L —
2917 v ® v 7 v v A % | mg/L —
30 | = = 7+ L A mg/L —
31 |- JL A 7 JL A E Kl mg/L —
2l & kK ®” x o f & W mg/L 0.14
Blr v =y a k2 ok 4s& W mg/l 0.02A7
g . v o2 o b & W mg/L 0.15
Bl K O = o b A& M| me/L 0.05 A3
6| U v oA K O ZE 0O LA W meg/lL 5,300
31|l v v Kk O % o b & ¥ mg/L 2.1
38 | 1k ¥ A 7 | me/L 12,000
ey a, v kv oam (W E)| mg/l 7,200
40 |7% % % & )| mg/L 27,000
410z 4 F v F m & M H| mg/L 0.02A7i
42 |> e 7 2 3 | mg/L 0.00000 1 A i
4312 — A F L 4 Y A AL 2 F — | mg/L 0.00000 1 A i
4P 4 A v RBoom & M Al me/L 0.002Aif5
45 |7 - J — L $| me/L 0.0005A 7
46HF # % ( TOC ®» & )| mg/L 0.3
47 Ip H fiE 6.9
48 7S —
49 |2 = T 5.
50 | | E 1
51 | | E 0.8
6H17H
N ( 5 % A ) R
e £ M 3F il 100mL 0
10 A 2hi ¥ &

7 UV 7 b 2 K U ¥ U A

% e % % 7
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b ¥
—

BRNTHEFE
FH|l W H 4 B 6H17H
1| — fix il Iml 38
2| K i s
3l WK I v A K OZF O A % | mg/L 0.0003 A
41 & 8B R O 2 o &b A& ¥ | mg/L 0.00005Aif
5l v v B O ZFE 0 A& P | mg/l 0.001 A ik
6 % K& O = o Ik & W | mg/lL 0.007
7 # kX v = o 4 A& | mg/L 0.011
glx M 9 9w oA 4 A | mg/L 0.002 A3
9 [k i 173 i £ #| meg/L 0.004A3i
W7t a4k &y 7 | mg/L 0.001 A3
11 |my me f % % K& O B WY M M = #| me/L 5.6
1217 v £ k& O = o b A& ¥ mg/L 0.35
BlIx v F k O = o &t & % mg/L 0. 1A i
14 |4 Hi it 17 | mg/L 0.0002 i
15 |1,4- v 7 ¥ va Y| mg/L 0.005A i
W P n g Y e 0 001Kk
17 | 7 = = 2 5 | me/L 0.002 A7t
8l ~ 5 7 v v = F L o mgl 0.001 i
9 v v v B = F L v mgl 0.001 A
20 |~ > ¥ > mg/L 0.001 Ajif
21 | ES fiZ| mg/L —
22 |7 = = e fiZ| mg/L —
23 |7 = = AN JL 2| mg/L —
24 [ 4 = = FE fz| mg/L —
2l 7 v = 7 v v X % | mg/L —
26 | & e fiZ| mg/L —
27l U o~ w2 x| mg/L —
28 |k D 7 = = iz fiz| mg/L —
2917 v = v 7 v v X % | mg/L —
30 [~ = £ 7 L 4| mg/L —
31 |78 A 7 7 E Rl mg/L —
2 & Kk O o i A& | mg/L 0.05it
37 v =T s Kk O EF O E W mg/L 0.03
Ml w0 b A& 9| meg/L 0.11
3B K 0 = o fv & W meg/L 0.05A i
36|17 F UV T A KO ZF 0 A& W meg/L 38
37|~ v # v Kk O 2 O b & ¥ mg/L 0.12
38 & e 7 A * | mg/L 24
39 v v n, v~ x vy am (@ E)| mg/lL 160
40 |7% % 33 ¥ Y| mg/L 360
41 (k2 4 F v F m i M Al mg/L 0.02 K3
42 |¥ = 7 2 3 | mg/L 0.000001 A5
4312 — 2 F v 4 Y R L x4 — | mg/L 0.000001 A7
41 4 A v R om W& M Al mg/L 0.002 A3
45 |7 e 7 — L $| me/L 0.0005 A5
61 Hw W ( TOC © & )| mg/L 0.9
47 Ip H i 6.9
48 'S —
49 | & £ Vi .
50 |4 ElOE 5
51 | OB 1.8
6H17H
N ( 7 1= R A ) Mt
Hk = M # i) 100mL 0
10 A 5= 77

7y 7 K 2 K U Y U oA

D% e % % T




